0002156543487999

0O EREYEAY 0—0—

2014 47 3C - R B4 M
4 [ LTFORMIZER .
y o [F 12 Gx]"7
(1) EMMy=56x2 y=axh45° TxHhBL X, a= 2Rl a= Tdhbd.
- L= 13 [2 ]2
5 _ . : 2 el /715
(2) x*—6x+4=0D 22D tana & tanB D& %, sin(a+ B) = = THd.
- [ =% 3
®) —r<xr<ze¥s. sin(5+z)—sinzi, z= ” DY, BAL / 5.
L;
M Y=FL " ABBOEORE LDTRE o LT3L, tano =5
4=ax 9" 4 f t¥3e.tanf=0a
o~ = £45° T H3.
A — Tand—tan( e g o 5-4
Tan (d ﬁ) m I=4VALT, b | [+54
2
hEfGT. A= T IR ﬁ=-—_§-
L
@) B ¢ (580 PR E). tand+ Tanf = &, tand- farp = ¥
‘- fan (d+p) = Lahol+tan B - ¢ I
/"Zﬂna{fan@ /- 4
falp* | = ~2 / sz(dﬂ)""!‘ - Sin(dr, - L
an 8 1" c053P or/ co i = & T ) ﬁ)“ 5
©osi (d+p) = 1217
5
7
(3 (44') = cosx - sinA
= =7 (sind 7~ cosn )
= "ﬁ Sin (1"}%{‘)
“REASR LY. —fxéx—%é ;‘7{
cx-g==8 guns x=-F e BirlB(25¢3




